
 

 

 

The Great Maths Test: Number 1 

 

The Panda Test 

 

Name: _______________ 

Date:   /   /   . 
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4 + 9 =  
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25 - 5 =  
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46 + 10 =  
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18 - 6 =  
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18 + 4 + 4 =  
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46 - 8 =  
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             + 3 = 8 
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58 + 5 =  
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7 + 4 + 6 =  
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48 + 32 =  
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73 - 30 =  
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70 -              = 30 
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6 x 5 =  
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7 x 0 =  
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6 x 3 =  
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14 ÷ 2 =  
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45 ÷ 5 =  
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   of 24 =  
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54 + 39 =  
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94 - 43 =  
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   of 32 =  
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60 -17 =  
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46 +              = 63 
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   of 18 =  
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Well done, you’ve finished! 
Here’s a picture of a baby panda having a nap: 
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   of 20 =  
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